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Lesson 5-3 SOLVING SYSTEMS USING ELIMINATION BY ADDITION

[ KeyConcept Solving by Elimination

[3 :Il Write the system so like terms with the same or opposite coefficients are aligned.
m Add or subtract the equations, eliminating one variable. Then solve the equation.

K] Substitute the value from Step 2 into one of the equations and solve for the other variable.
Write the solution as an ordered pair.
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Example 2: Write and solve a system of equations
ST egual rown

Negative three times one number plus five times another number is -11. Three times the first number plus seven times

the other number 1s -1. Find the numbers. = = f{s.’. nv mber
2nd @guad ron VE othernumoer
Negative three Five times
times one number Plus another number is -11
—3x + 5y = -11
Three times the Plus Seven times the is
first number other number -1
3x + Ty = -1
Are-
Add the system to eliminate a variable: X ‘g . ?
vnder X'S
p— ’ [ ] ?
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+ +7y =-1 *

12y=-12 > Solvefory — Vndﬁr -
12 12 .
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Replace (-1) into an original equation for “y” and solve for “x” Ca,“ (Q\ SV -‘

-3x +5y=-11 T°P Uo:h'O‘Yl
3x+5(1)=-11 > Solveeff)i?x check ¢ N ‘M\f- bO'H'om

3x—5=-11 e%uaxl'm'- '3}(-!7\(: -

) 3R) ) ==
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Write your answer as an Ordered Pair (2,-1) What does your answer mean? \ hQ g\\- f$+

number was 2 and -\‘ko. othar aumber was —\.
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EXERCISE 2:

\sT equation 2nd e%ucd'\bvl,

The sum of two numbers is — 10. Negative three times the first number minus the second number equals 2. Find the

numbers. (Hint: let x = the 1" humber and y =the 2™ number) Now write the system:

VX N=-10 IsTecv;da'o'VL -ﬂ'nd\,-m- X+Y=-0:
“3K-N\= ¢ 2nd Q%UO'.Q'I'O’V\. _t“"‘:I o\P

-2 X =-_%_ Solve for x @

< "2 check (n-3x-y = 2:
@ -3(M)-¢IH) =2
Soluhon s (4 -11) T12+1H =2

A
The fiest numbser wos Y 272
_C}nd tha Secend number was -14.

" _:xy—=12! “' &(ﬁd\( ' 3X+y=12
\=3 3(3+y =12
SY=1S °)+\/ -_IZ_
S = -9 ~b|

&3

: Solution (3.3).
check (n 2%\ = 3: — )
2(3) 3:3 I'he humbers are
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